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L Tsolated systems < Momentum (p M.y femans constand
L mpVA - MeYR = MAVAe + mavm =

k%) Ball drops with the spme veloaty as the clay

logity /s -89V ot 129 5, 0% of B0¢, ond B4 % ab 5.l

c) Impulse delivered tp fhe Su{m\oa(( 5 g(éa}(’,r

2D Ve 1% o/U\AX BB ICINE) e Ve, A6 E
T e -y @\@o) (ODNC620)= 0.626
Ax = (Y, 0.000= /-6 @QDM M=0.019s

0,626 = Tore: 009 [Tore= 35N~ lkely fo puise )
D oa= Ve-Vi - bRG < 20 W
AL om

[F=m.q = 01-220 =33N [~
_ZF Fv-F  23N= Fy- (0D

a) J=F. ¢ - @00@)[00007) “84Ns
@ Afea_of tle fectungle = impulse
c) Emphs nane awep cowwmoﬂ &) Negafik impulse

'”'fe) B4 = (0M49)(A2) + (0.45) Ve Vf =

P M-V o find s breach s

% Tnpulse needed o stop fhom = AMomenhin Q-am@ ﬂmlar\g)
Caa'} determing the force Aeded ecause we don't know e ™




Mastervg Physics - Tnd to Momentum (age 1)
\,Q/) Thitial moweatum= O (N0t mowng)
b) Equal o = fhidd law pairs ) ~900 kg"/s  (tonservetion & monas

3= pe - p - ()(Jy-0 = 1980 |
T e Tme 180 - [6,000 Tuwe, k= 008 ]
D Vizlb% ve- 0% M= 0.0%s -

Axv(‘%‘\’)M (L)0.0@ fm

VS Faual mases - Anal velocity is halfwoy behueen intal velocrtes
@/{M of the wogon doessy change (no exterral fore)
MOW‘/\NM (S constunt and foree of air on \oalloon = laalleon on air

7
\

IH/VP Pp becuse A tukes o lorger fine so e foree s exerted over a longer penod
o Rnger oxerts & smaller force ot over a longer e infenval
\l.f?;/l\'\pﬂimmm IS conStant in on iSolated System

Wﬁeely folling motal ball when g \oall is the system has increasing maventum
5 Relrchole bumper because i inreaes the time of impacl

qu\mg oall wikfhe moket and fanels in e other divection

(7 Grestost change in speed whon the loall \oounces. o in the oker divechion

MWL/LW D —




i

Kathicen Boyce
fenod Blue

Masteriag Py sics - Tnio tg Momesum (Poge )
b

ﬁ Femﬁ {—~
KL } _ . e

foree

PO

t

MOWMM IS Fm?orﬁmai_’rb the mass ) MOMUh‘um M an |8_ola’f€d .
System 1S e, omeAtum (s 0. Uecior , chan in monandun

s impwlSe, change. in wometum is 0porhonal 1o the edemal force
U Woodpeckars soack Wi ogaks (s head) oginst e 40225

Par Closed , deerease , total momentum of #he dosed system | ectemal

S

P4 Positive, negative 7o

|

057D loall_ that rebownds off the wall has a qreater Ap
ugf’wau Werte 0 g Yeater Dreg on the ball thot bowiees off
W7 o isolated , Newton's laws |

Qﬁ’@ Bar has 0 horizontal yelot Ty with r&peo_’(:b-w fruck ov
with fespoct o e Earth 5 wo onswers
b

b [

T A N (- —

¢) Horizontal momentum of the wholg System doesn's change,

| lowt Hax consists of e ik and the boar now o e
Mometium of 4ng fruck decrmses |




Masteang Phusics - Tt fo Momentum (foge D 8

A
Za ) i
s |
Bola)2p; = Pe  Direckion changes qoing wfo and aut of the wicking
o Pri Bt
PAc 3a : z ?E)

Sawe. momeum P .V

B+ 6 - (M)

“Tpulse - Afea under Toree vs. hine

Total momenum of an isolated System is constud, Veckor sum of fores ading C

0N 0. particke €quials Y (ke of chame of womentum of the pasticld with
resfledt 10 Hime, fotal momentum (s fne vechy Suw

£ 8 R T

@5(/]\(\9»«1& is the Sume (Same drange in Vedocity)
156 %l vgeriences g greates chande

0 — @ ‘.E,. D }Hé
00 Fa’@ R e -
O B e e T




KHulgen Boyee
Period Bue

_ Mastering Phytics - Tatto Momentum (Page D
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AX = (v-liw)M 0.9 = (.—.&)M A 0,033
I 2

1890 = e 0.0 33%
(F=94100 N )

Yo Vi=20% Ve-0% m=55kq F=800ON Ax=7
[pi= 63)20) = -100E  pe-0  T=100 9%
J- P A loo=00 A At = 01315 s
LA = [ vi+ Ve \ AY

, -z o
DY = :&>(o«m} BX=1319 m \
L2 |




